ST-297 RRB PO (PRE) 2020

Passage for Question 1, 3, 4, 5, 6 (ST-297RRBPOPRE(1-5R)2020-NP)
eng hin Passage

Study the following information carefully to answer the following question.

frafafa va w1393 ¥ g Refafaa STasrd w1 ey segaa w3

There are eight persons i.e. A, B, C, D, E, F, G and H who lives in a multi-storey building such that the ground floor of the building is numbered 1 and above it 2nd
floor and so on till the top floor which is numbered 8. Only one person lives between B and D. Two persons live between D and E, who lives one of the floors
below A. Three persons live between H and E. E lives on an even-numbered floor. G lives immediately above C. There are three persons who live between B and
A. Both B and A live on an odd-numbered floor.

A3 =T AATC: A, B, C, D, E, F, G 3T H agH ST THIRT § 39 a3 & Tad & 1% Fa¥ [e=el aof sl AT | 37 Iq9 FAL F T 6l ST 2 37T 307 36T
TvE T o qet T "5eAr 8 81 B 3 D F = § Fad U =AT<F AT gl D i E, ST A 1= 36t U 9 9% Tga1 ¢, I a9 | <1 =41 ¥gd gl HTE
F 1 | 19 =41 ¥gd 2| E, 79 H%AT 9T ao 9¥ TgaT gl G, C 3 319 FU¥ TgaT gl B 3T A% o= & i1 =7f<F g 81 B =i A 31 oo gwar arr aor

T TEd Bl

Q-1 Who among the following lives on the second floor of the building?
eng hin TH T T AL 6o U et § | A @ar 82

01. A 02. G
03. D 04. F
05. None of these
THH T HIS ARl
Solution for Question 1 v
Floor | Person
8 | _H
G
> C
.1_ i |
3 o N
? F
1 D
[ [
| el H
6 G
5 C
4 E
3 B
2 F
1 D

Q-2 In the following code language, TALENT is coded as OZGGMYV then how will WEIGHT be coded in the same code language?
eng hin  IEITITET 1€ WIAT § TALENT FT OZGGMV F &9 # FfSq FAT 72T & a1 I 1€ 9T § WEIGHT F1 F FI(Sq [T SITOIT?

01. RVDGST 02. RVDHST
03. RVDGRT 04. RVDGSU
05. RXDGST
Solution for Question 2 Ans Key: 1
eng hin
TAL ENT
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Q-3

eng hin

01. 1st Floor
5 aﬂ_

03. 5th Floor

qi=d

D lives on which of the following floor?

D, frforfera & & e qor 1e wgar 22

05. None of these
TAH HFIS Tl

Solution for Question 3

02. 3rd Floor
T o

04. 7th Floor
qrad

Ans Key: 1

eng hin

Floor

Person
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Who among the following lives immediately below E?

e § & #19 E % 219 1= wgar a2

01. F
03. B

05. None of these
TAH HFIS Tl

Solution for Question 4

02. A
04. C

Ans Key: 3

eng hin

Floor | Person
8 H
7 A
6 G
5 e
4 E
3 B
v, F
1 D
ad A<k
o T
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eng hin

How many persons live between F and G?

F 3% G % = | o =1f=e w5 82

01. Two
ar

03. More than four
EIREEIPED

05. None of these
TAH q FIS Tl

Solution for Question 5

Floor

Person

o)}

el NPV R S ¥

r—hm‘;u»r-mo.ﬂmg.l

olm|m|m|o

02.

04.

One

Four

Ans Key: 5

Q-6

eng hin

‘Who among the following lives on the top floor?

eferfaa & & wi ofrd 9o 9% Tgar &2

01. A
03. D

05. None of these
TAH q FIS Al

Solution for Question 6

02. H
04. C

Ans Key: 2

eng hin

Floor | Person
8 H
7 A
6 G
5 C
A F
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7 Passage for Question 7, 8, 9, 10, 11 (ST-297RRBPOPRE(6-10R)2020-NP)

eng hin Passage

In each of the question below is given some statements followed by some conclusions. You have to take the given statements to be true even if they seem to be at
variance from commonly known facts. Read all the conclusions and then decide which of the given conclusions logically does not follow from the given statements

disregarding commonly known facts.

T o0 0 3w T °, |/ AT F 18 |/ AR (20 AT F| ATHT ST T G FAAT R AA AEAAT § A o I FASATT a2q1 7 95 T gid gl T4
TIehOT T ST AT ¥ T80 a1 =i o1 ¢ FF 30 0 & | Ao {30 10 s6eq, ST s 92 1 a1 6 SUel F3d &, &7 aiiad &9 9

Q-7 Statements:
All months are weeks.
Some week are day.
Some month are year.
No Decade is a Day.
Conclusions:

I. Some week are not Decade.
II. Some Year are not Decade.

III. Some Year are week.
IV. Some Year are Day.
FIT:

aeft 7rg, TETE 2

%@ aaTE, fod &

% e, T4 8|

s 397, fae 721 8
Ao

1. % HATE, TAF ol g
1. & a9, TqF ol gl
1L %= 99, F97% &

V. g a4, fRa gl

01. OnlyIandII
FAA [T 10

03. Onlyll
Faa 1

05. Only IV
FaT IV

Solution for Question 7

02.

04.

None of these
TAH T FIS AR
Only 1T and IIT
Faer 1 < 11

Ans Key: 2

eng hin




eng hin

Statements:

Some tanks are jars.
Some jars are bucket.
All buckets are baskets.
No baskets is bottle.
Conclusion:

1. All tanks being jars is a possibility.
1. All jars being bottle is a possibility.
III. Some bucket are not bottle.

IV. No tanks is baskets.
FIT:
TG F, A2

11, ET STTT 3 Fraer i T qeqTaeT 2

111 FE Tohe, TTaT Tl gl
V. % &, 976 T2t 2

01. OnlyIV
FaT IV

03. OnlyII
Fae 11

05. None of the above
ITAH H IS TRl

Solution for Question 8

02.

04.

Only I and IV
Faer [1 T [V
Only III and IV
Faer [ ST IV

Ans Key: 2

eng hin

Statements:

Some trees are flowers.
Some plants are flowers.
All flowers are roots.

No leaf is plant.
Conclusion:

1. No leaf'is tree.

II. Some roots are not leaf.
III. Some roots are flower.
IV. Some plant are not tree.
EREH

Fe &, T

G AT, FATA B

T+l FTaY, F2 g

FE A, TATE Tl 2l



Ao

L. TS A1, &1 781
1. & &<, I 721 &
11, % &<, FATa7 g
IV. g wie, 3 921 &

01. All except IV
IV & G 7+t

03. OnlyII
Fad 11

05. None of the above

I § A TS T

Solution for Question 9

02.

04.

Only I and II
Fad [

Only [ and IV
Fae [T IV

Ans Key: 4

eng hin

Q-10

Statements:

Some A are B.

Some B are C.

All C are D.

NoB isE.

Conclusion:

I. All A being D is a possibility.
II. Some B are D.

I1I. Some D are not E.

IV.No AisE.

ER G IS

T A, BE

#= B, C &l

adr C, D g

#TE B, E7El g

rewy:

L & A% D 24 T J8TaET g
I. %= B,D &l

1. % D, E 721 &l

IV. %S A, ETZT 2

01. OnlyIV
FaeT [V

03. OnlyII
Faet 11

05. None of the above

I § F T RN

Solution for Question 10

02.

04.

Only IT and IV
Fad [T IV

Only IIT and IV
e M1 3T IV

Ans Key: 1

eng hin

-



Q-11

eng hin

Statements:

Some A are B.

Some B are C.

All Care D.

NoBisE.

Conclusion:

1. All A being E is a possibility.
IL. Only D are C.

IIL. Only a few C are B.
IV.NoDisE.

EREH

TG A, B2

FE B, C 2l

T C, D 2

&S B,E A&l 2l

Ao

L T A% E g T FFATa4T 81
IL#Fa9D, C &

1. %37 75 C, B 2|

IV.#:T D, E &l &l

01. OnlyIV
Fad IV
03. Only 1l
Fae 11

05. None of the above

g # TS A

Solution for Question 11

a0

02. Only Il and IV
Fad 11 T IV
04. Only Il and IV
Fae I T IV

Ans Key: 5

Passage for Question 12, 13 (ST-297RRBPOPRE(11-12R)2020-NP)
eng hin Passage

Study the following information carefully and answer the questions given below.

afafaa STastd &1 eamgd® seaaT 1 AT A= fFrgag v w s

There are six persons i.e. M, N, O, P, Q and S who all are of different ages. The one who is the second youngest is 32 years old. M is younger than Q but older
than S. N is older than Q and P but he is not the oldest. P is not the youngest. M is not 32 years old. P is younger than Q.

g AT AT M, N, O, P, Q 31T S & T AT STeT- 37T 81 THLT Ha9 BieT ATH 32 AT FTEI M, QT ST g ATFT ST TSTEIN, Q ST PH AT E
AT 9 999 IET Tel ¢l P 999 FreT 921 g1 M, 32 99 #7751 8| P, Q ¥ BIeT &l

Q-12

eng hin

If M is 6 years older than P and the sum of the ages of M and Q is 80 years then what will be the age of Q?
T M, P & 6 a9 =T ¢ 3T M 3T Q T 311 FT TT 80 AW & AT Q T M FAT FHIr?

01. 42
03. 44

05. None of these
TAH HFIS Tl

02. 43
04. 46



Solution for Question 12 Ans Key: 1
enghin O>N>Q>M>P (32 Yrs)>S

Q-13  Who among the following is the youngest among all?
enghin  FHfET & ¥ %9 799 ger 22

01. M 02. O
03. p 04. Q
05. None of these
TAH A AL TRl
Solution for Question 13 Ans Key: 5

enghin O>N>Q>M>P (32 Yrs)>S

Passage for Question 14, 15, 16, 17, 18 (ST-297RRBPOPRE(13-17R)2020-NP)
eng hin Passage

Study the following information carefully and answer the questions given below.

fafafaa srasrd &1 samgd® sregaa 2 TR ooyt ® s

There are eight persons i.e. A, B, C, D, E, F, G and H who all are sitting around a circular table such that some of them face towards the centre and some outside
the centre. C sits third to the right of H. Both H and C face opposite direction (If H faces inside then C faces outside and vice versa).

D sits second to the left of C. D and A faces the same direction. F sits third to the left E. B sits third to the right of A. D faces the same direction as H. B is not the
immediate neighbour of C. G is not the immediate neighbour of E and B both. G sits second to the right of F. B and G are facing in the same direction but opposite
to F. B and G do not face inside.

A3 =T AATC: A, B, C, D, E, F, G 3T H UF FATHIE T & AT AT 30 A0 § IS & [ ITH F g 33 0l AT 79 T ¢ 3T [F 18 & A8 4l AT 39
T2 21 C, H & a4 qi e #19 92 937 21 H 3T C TA1 fAadid fRar f1 sie 3@ @ & (AR H A AT AT 3@ W@, a1 C 15 6 gL 01 AL 3@ L@l 3 AL
ECERERRAG)]

D, C % a3 THY T 9T 927 81 D 3T A 991 2o 7 e 3@ 78 81 F, E ¥ a4 di6y #9 92 937 €1 B, A 313 T\ T 92 9237 g1 D 39 fRem &
AT 3 ¥ g o fTem it sire H 3@ 781 81 B, C #7 Aaeds 92T 761 g1 G, E 31T B 241 #7 (Ashedd G2 75l g1 G, F % 373 < &1 97 937 81 B
T G 797 forom i T 7w w2 & A4 F F fFoda Bt G g f e a2i 3@ 72 2

Q-14  Who among the following sits opposite to G?
eng hin Raforfaa & & w1 G & fAadq s=1 872

01. A 02. F
03. H 04. B
05. E
Solution for Question 14 Ans Key: 3

eng hin

Q-15  Who among the following sits second to the left of H?
enghin  FETIEa & & 9 H ¥ a1 g8 #4149 T 937 22

01. A 02. E
03. D 04. F
05. None of these
TAH IS T
Solution for Question 15 Ans Key: 1

eng hin G



Q-16  Who among the following faces F?
enghin  TFoforfEa & & %9 F &t &7 3749 272

01. C 02. E
03. F 04. A
05. None of these
TAH IS T
Solution for Question 16 Ans Key: 4

eng hin

Q-17 Who among the following sits third to the left of B?
Referfad & & F9 B % a3 J9 19 9 927 282

01. D 02. H
03. E 04. C
05. None of these
TAH T AE 7L
Solution for Question 17 Ans Key: 5

G

Q-18 How many persons faces inside?

01. Two/aT 02. Four/=T<
03. Three/di 04. Five/ar=
05. None of these

TAH (S qQl

Solution for Question 18 Ans Key: 2

eng hin

Passage for Question 19, 20 (ST-297RRBPOPRE(18-19R)2020-NP)
eng hin Passage

Study the following information carefully and answer the questions given below.

fafafaa STasrd w1 eamgd® sregaa w3 A= g ag v ® s

There are seven persons in a family such that there are three married couples in the family. D is the father-in-law of B, who is the brother of C. K is the mother-in-



law of E, who is the brother-in-law of B. A is the only child of F. D is married to F.

T TET | |19 AT 39 a8 9 & (% Ta § 39 faatiad T8 g1 D, B &1 q92 & ST C FT 9T% | K, E #7919 &, ST B 7 a8%-349-A1 gl A, F T
THATIT HAE g1 D, F 7 faanfza 2

Q-19  IfMis the son of C then how is E related to M?
enghin  TX M, CFT I 2, a1 E, M 7 Fe wore wrwarfeera 82

01. Mother 02. Father
qt U

03. Son 04. Brother-in-law
T FET-ZA-AT
05. None of these
TAH HHE TRl
Solution for Question 19 Ans Key: 2

eng hin ] K(-)

{+1—|_ 0 |

Q-20 How is F related to B?
F, B 5 & w2 Ieateaa 22

01. Father 02. Mother
o ot
03. Father-in-law 04. Mother-in-law
05. None of these
T A TS ARl
Solution for Question 20 Ans Key: 4
D=—F K(-)
(+) | (<) [
A B C = E

(-) (+) (-) (+)

Passage for Question 21, 22, 23, 24, 25 (ST-297RRBPOPRE(20-24R)2020-NP)
eng hin Passage

Study the following information carefully and answer the questions given below.

frafafag STasrd £ 1 samga T stegaT : AT fFRrwrr Tt ® s

Six professors i.e. A, B, C, D, E and G who all take their lecture in College X on different days of the week starting from Monday and ending on Sunday. There is a
day off in the week, but not on Sundays. They all take a lecture on different subjects i.e. Physics, Biology, Chemistry, Maths, Economics and Hindi but not
necessarily in the same order.

There is three days gap between the lecture of professor E and the professor who takes the lecture of Maths. The one who takes a lecture on chemistry takes his
lecture immediately before professor who takes a lecture of Hindi. D takes a lecture on subject Physics on the fourth day of the week. One of the day in the week is
an off day. The one who takes a lecture on Maths does not take his lecture on Sunday. E takes his lecture before the one who takes his lecture of physics. B takes
his lecture on Sunday but not on subject Hindi. There is a one-day gap between the lecture of professor C and professor A, who does not take a lecture on
Chemistry and Biology. E does not take a lecture on subject Chemistry. G does not take a lecture on subject Chemistry.

T TTHALT AT A, B, C, D, E ¥ G, ST 79t HHaTE | & i< TAaT< 7 THIE g9 aTel TATg % [aree AT § Fiersr X # 97 AT 3 &1 9978 #
T T T SAAHT &, AR a8 TAAaTE Tl Tal gl o THT ST STERT (A0 STATq: |WITeht, Satasie, TETae &=, o7, srefera i et o do= ad &
AR &Y TR G FH § 2

TTHET E 3T IO o7 T o aTel TTHE< o a1 § o1 (A1 a7 a2 g1 T A5 a7 oo o et T, 2wl T S o aTel TTHes oF ST
TE FFEL AT g1 D, TATE & =19 f& ATAhT &7 S a7 €| HATE & U (o STAH1T TZaAT 2| T T =L o ATAT TTHHT STIAT A TaaTe &l
TEL ST 1 E, SRl T =< oIl ATl Tl STHET o Tgol STTAT A=< a1 21 B 3TIHT SiaFaT TAFTE il oaT & ofshe {2t 7 SieFe 72t o 81 Hee C
F AFAL 3T TTHEL A, ST THTIA & ST AT T 3= 7l aal §, 396 AL % 919 ° U (a7 &7 37 g E, T BFae &7 =7 981 a1 gl
G, T [ T T2 T2l aal gl

Q-21  Which of the following day of the week is an off-day?
enghin  Feferfea § & @ate F #1907 & srasrer gran 82



01. Wednesday

02. Thursday

03. Monday 04. Friday
qHAT LFATT
05. None of these
i 37 A7E A
Solution for Question 21 Ans Key: 4
enghin Casel
DAYS PROFESSOR
SUBJECTS
Monday C Chemistry
Tuesday E Hindi
Wednesday A Economics
Thursday D Physics
Friday Off-Day | Off-Day
Saturday G Maths
Sunday B Biclogy
fe il fama
AT c T g
HAAATL E feal
TEa A ER
AT D 1
.
FIEELR
7 |'.]..|| r‘
Q-22  On which of the following day A takes his lecture?
Referfad & & w9 | 3T A 99T JoF=T aar 82
01. Tuesday 02. Wednesday
EEEEIES ECEIRS
03. Friday 04. Saturday
AT CICCIES
05. Sunday
ECIES
Solution for Question 22 Ans Key: 2
Casel = I .
DAYS PROFESSOR _1
SUBJECTS
Monday | C Chemistry |
Tuesday E Hindi
Wednesday A Economics
_Thursday D Physics
Friday Off-Day | Off-Day
Saturday G Maths
Sunday B Biology |
fa= I fawa
HHaTL c THYA [9H
AT E fgal
qHATE A U
EATL D it
HHATL AR HAHTE
aifare G RG]
Taar B Gffafaar
Q-23 Who among the following takes lecture on subject Hindi?
enghin fAEfAfEad @ sta R F1aF=atdqre?
01. A 02. G
03. D 04. B
05. None of these
TAH T TS AR
Solution for Question 23 Ans Key: 5

enghin Casel

I ™ AWVD DDADLTCOCMND I I



SUBJECTS
Monday C Chemistry
Tuesday E Hindi
Wednesday A Economics
Thursday D Physics
Friday Off-Day | Off-Day
Saturday G Maths
Sunday B Biclogy
faa silizncg famm
HE c T [
AT E EE
qEAT A S
A D il
AHATL HIDBT HARI
i G TTioTd
T B Sitafaas

Q-24  IfBisrelated to Friday and in the same way A is related to Monday then following the same pattern G is related to?
enghin T2 B, AT & T¥alead 2 T a0 T0% & A, AHATE H qefoad 2, a1 g6 w1 Raferfad § 7 #19 G 7 qefad 22

01. Wednesday

EEEIN
03. Thursday

ERAIGEIRS
05. None of these
TAH H HIS Tl

Solution for Question 24

Case 1
DAYS PROFESSOR
SUBJECTS
Monday C Chemistry |
Tuesday E Hindi
Wednesday A Economics
Thursday D Physics
Friday Off-Day | Off-Day
Saturday G Maths
Sunday By | Biology = |
[rig|
@A |
qqa{—f ‘_
'{'F]l]'['f
....qu” i
E =
.‘l afaare | G |
' "I']'II*J B :\

Q-25 G takes his lecture on which subject?
enghin G, T fawar 1 SreFae ST 22

01. Maths
wfore

03. Physics
EIUEET]

05. None of these
TAH q FIS Tl

Solution for Question 25

02. Saturday
orfeaT

04. Tuesday
HITAATL

02. Economics
EREIC]

04. Biology
EIEIEEIGE

Ans Key: 3

Ans Key: 1

enghin Casel

DAYS PROFESSOR

SUBJECTS
Monday C Chemistry
Tuesday E Hindi
Wednesday A Economics
Thursday D Physics
Friday Off-Day | Off-Day
Saturday G Maths
Sunday B Biology




UIpE famg
HIHETT C T fagE
LG EILS E fgat
AT A U
TEATL D R iGgal
AHATL HHRH] HART
orf=ETT G T
Taa B ifafaan

Passage for Question 26, 27, 28, 29, 30 (ST-297RRBPOPRE(25-30R)2020-NP)
eng hin Passage

Study the following information to answer the given question.

frg T g FTITTIF F foru fAafeafaa sasrd #1asq77 w3

In a certain code language,

‘choice ability book current’ is written as ‘mtb guv hbu std’
‘ability latest online always’ is written as ‘tkm hbu dav pur’
‘online choice motivate dream’ is written as ‘nhm mto tkm guv’
‘always break book online’ is written as ‘dav std rxt tkm’.

u fAfaa e AT A,

‘choice ability book current’ #T ‘mtb guv hbu std’ F =7 F forgT STar 21
“ability latest online always’ #T ‘tkm hbu dav pur’ 3 =9 § foraT STaT 21
‘online choice motivate dream’ #T ‘nhm mto tkm guv’ ¥ &7 H foraT ST 21
‘always break book online” FT ‘dav std rxt tkm’ = &9 ¥ fer@T 14T 81

Q-26 In the given code language, what does the code ‘mto’ stand for?
& TS FE WTUT H, FF ‘mto’ FT FAT 35 §2

01. Either ‘choice’ or ‘book’ 02. current
T 4T “choice’ AT “book’
03. online 04. Either ‘dream’ or ‘motivate’
IqT AT “‘dream’ IT ‘motivate’

0S. break
Solution for Question 26 Ans Key: 4
Choise guv
ability hbu
book std
online tkm
current mth
alwayes dav
break rxt
Motivate/dream Mto/nhm
Q-27 What is the code for ‘always’ in the given code language?
eng hin T TS 2 ATIT H “always’ F forT F47 F2 82
01. tkm 02. rxt
03. std 04. dav
05. None of these
TAH H A THl
Solution for Question 27 Ans Key: 4
enghin  choice guv
ability hbu
book std
online tkm
current mth

alwayes dav



break rxt
Motivate/dream Mto/nhm

Q-28  Whatis the code for ‘ability’ in the given code language?
eng hin &1 TS Tz ATT H “ability” ¥ forT 7 = 22

01. nhm 02. hbu
03. guv 04. pur
05. rxt
Solution for Question 28 Ans Key: 2
enghin  chojse guv
ability hbu
book std
online tkm
current mth
alwayes dav
break rxt
Motivate/dream Mto/nhm
Q-29  What may be the possible code for ‘always latest” in the given code language?
T R ATIT ) ‘always latest’ % form g R FT 21 FHdT 27
01. vegbdn 02. davnhm
03. nhmve 04. pur dav
05. mtb dav
Solution for Question 29 Ans Key: 4
Choise guv
ability hbu
book std
online tkm
current mth
alwayes dav
break rxt
Motivate/dream Mto/nhm
Q-30 If ‘online book home’ is written as ‘ajm tkm std” in the given code language, then what is the code for ‘home latest current’?
eng hin RIEEIR FE ¥ “online book home’ FT “ajm tkm std” % T H for@T QT g, AT home latest current’ % TT 4T F& 82
01. ajm guvnhm 02. pur ajm mtb
03. nhm mtb pur 04. mtb dav ajm
05. ajm hbu pur
Solution for Question 30 Ans Key: 2
enghin  cpoice guy
ability hbu
book std
online tkm
current mth
alwayes dav
break Xt

Motivate/dream Mto/nhm

Passage for Question 31, 32, 33, 34, 35 (ST-297RRBPOPRE(31-35R)2020-NP)
eng hin Passage



Study the following information carefully and answer the question given below.

afafad STasTd F 1 8a\gaF AFIT R AT RUTTIT FTIACRN

There are some persons sitting in a row facing in the north direction. P sits second from the right end. Q sits third to the right of M. More than three persons sit
between P and Q. One person sits between M and R. More than six and less than ten persons sit to the right of M. More than one person sits between Q and R.

T UTh § I 9T FT 317 ITH@ 17 % ATh 95 8| P I B F THL I T2 925a7 21 Q, M F 3T ¥ oY TF T a8l PSiT Q F AeA T &
Ffer =<k 950 g1 M 3T R 3 HeT U ATk 93a1 g1 M F a0f oY B & fere offT a9 & %7 A 954 g1 Q 3T R F Hed UF | ATerF ATk 95 2|

Q-31  If Wisits between R and M, then how many persons can sit to the right of W?
enghin  TT RSAT M ¥ 7exr W S3ar 2, a1 W &t i< e =1 o whet 82

03. 11 04. 10
05. None of these
TH q TS AR
Solution for Question 31 Ans Key: 4
e e e e e e e e
R M Q P
Q-32 If N sits second to the left of P then what is the position of N with respect to Q?
I N, P 3 Y T g €I 9¢ I3dT 8, a7 Q F &l § N T TT4 47 872
01. Third to the right 02. Immediate right
T AT AT HEEARIICIRS
03. Second to the left 04. Third to the left
05. None of these
Solution for Question 32 Ans Key: 1
R M Q P
Q-33 How many persons sit between M and P?
M ST P & Heq fahae =af<p 957 22
01. None 02. Five
FIE TRl KLk
03. Six 04. Three
XS LG
05. More than six
R EICED
Solution for Question 33 Ans Key: 5
.
R M Q P
Q-34  How many persons sit between R and Q?
eng hin RﬁrTQ%ﬁH%ﬂ%ﬁwﬁb‘aﬁ%’?
01. 5 02. 1
03. 2 04. 3
05. 4
Solution for Question 34 Ans Key: 5

e - H-H-H
R P

M Q



Q-35  How many people are there in the row?

eng hin t<h | fohae AT 82

01. 11 02. 10
03. 12 04. 13
05. 14

Solution for Question 35

Ans Key: 3

w4 -
R M Q P

Passage for Question 36, 37, 38, 39, 40 (ST-297RRBPOPRE(36-40R)2020-NP)
eng hin Passage

In the following questions, the symbols %, &, @, $ and * are used with the following meaning as illustrated below.

frafafag i 7, %, &, @, $ ;T gdrwT w1907 FAafafag oot F aqga fsarsmar -

‘5 % 8 means ‘5 is not smaller than 8’.

5 & 8’ means ‘5 is neither smaller than nor equal to 8.

‘S @8 means ‘S is neither greater than nor equal to 8’.

‘5 $ 8" means ‘5 is neither greater than nor smaller than 8’.
‘5 * 8’ means ‘5 is not greater than 8’.

Now, in each of the following questions assuming the given statements to be true, find which of the four Conclusions I and II given below them is/are definitely true

and give your answer accordingly.

5% & T AT 5, 8 T T Aol 271

S &Y FTAA'S T AT 8 | HIT 3T T 2T 8 oF a<ra? &'l
S @8 FT AT 'S AT 8 T AST T AZT 8 F FLAL gl
SESFTAT S TAT ST ASTHTAZ 8 A BT 2|
5% QHT AT 'S5, § A ST Al &'l

o, fRerferferd & & g wor 9, F20 10 gt 1 |2 wrd g s e, 6 A e T &y At 1 OH & #a-a1 Soed ffe w7 8 830 g =i

Q-36  Statements:
A&SS$0, P*L&O, DSA*F
Conclusions:
1. F%D
I1. S&P
ER G H
A&SS$0, P*L&O, DSA*F
fArey:
1. F%D
. S&P

01. Only II is true. 02. Both I and II are true.
Fal 11 77 8| [/ [1 241 9T 2

03. OnlyIis true. 04. Either I or Il is true.
FA [ T g T AT 1 AT 1 7T B

05. Neither I nor IT is true.
FATISAT TN T B

Solution for Question 36

Ans Key: 3

eng hin

Symbol | % | & | @ | S| *

code 2 >l<c | =]«
Conclusions:
I. F%D —=True,
II. S&P — False.
ydi® | % | & | @S| *
EAES 2 > < =| €

—— -



%Y
I. F%D —9F
IL. S&P — 58T

Q-37

eng hin

Statements:

K&F*J$G&L&OY%M@R

Conclusions:
I. J&R

1. G%F

EREN
K&F*J$G&L&OY%M@R
GALAE

1. J&R

1. G%F

01. OnlyIis true. 02. Neither I nor II is true.
FA [ T g TATLHT T 11 HT B

03. BothIandII are true. 04. Either I or Il is true.
[ 37T [1 T I 2 T AT 19T 11 9T Bl

05. Only Il is true.
Fael 11 7T g

Solution for Question 37

Q-38

Symbol | % | & | @ | $ | *
code 2 > | « =

Conclusions:
I. J&R — False,
I1. G%F — True.

gi® | % | &|@|S|*

ElE 2 : . = | =
e
. J&R —=39HA
II. G%F = a9
Statements:
WE&T%X@U, O*P@VSW
Conclusions:
I. W&O
II. V&X
FI:
WE&T%X@U, O*P@VSW
IELEAF
L W&O
II. V&X
01. BothIand II are true. 02. OnlyIis true.
[T T TTZ FAA AT E |
03. Either I or Il is true. 04. Neither I nor II is true.
FTANATINTTZ | FATTMTANATE |
0S. Only II is true.
FATNAAE |

Solution for Question 38

Ans Key: 5

Ans Key: 1

eng hin

Symbol | % | & | @ [S§S|*
2

code >sl<c | =g
Conclusions:
I. W&0 - True,
1. V&X - True.
PLIET %l & @ |S|*
Fie 2 l>l< |=]|¢<

i e AP, 3


mailto:K&F*J$G&L&O%25M@R%7CConclusions
mailto:K&F*J$G&L&O%25M@Rनिष्कर्ष
mailto:W&T%25X@U
mailto:O*P@V$WConclusions
mailto:W&T%25X@U
mailto:O*P@V$W

B Sin. L

. W&O0 = 89A
ILVEX - 87

Q-39  Statements:
enghin  QSK&N%P, R*S@X$Q
Conclusions:
L. R*Q
IL. Q&P
EREN
QSK&N%P, R*S@X$Q
Ao
L. R*Q
IL. Q&P

01. OnlyIis true. 02. Only II is true.
FAT T E | FATNTAE |

03. Neither I nor 11 is true. 04. Either I or I is true.
TAIHTTNTTE | AT AT TT E |

05. Both I and II are true.
[T NI TAE |

Solution for Question 39 Ans Key: 2

Symbol | % | & | @ | S| *
code 2 | < = | £

Conclusions:
. R*Q — False,
II. Q&P — True.

udld | % | &| @] 5| *

Hend
I.LR*Q -39
[I. Q&P — &

Q-40  Statements:
hin R$T&P, YQT&E, P&0%C

Conclusions:
I. T&C
II. E@R
EREH
RST&P, Y@T&E, P&O%C
IRLEO
L. T&C
II. E@R

01. OnlyIis true. 02. Only II is true.
FAT T E | FAANMTAE |

03. Both I and II are true. 04. Either I or I is true.
[T T TTZ FIANATNTTZ |

05. Neither I nor I is true.
FATTATANTAE |

Solution for Question 40 Ans Key: 3

eng hin

Symbol [ % | & | @ | §
code 2 l>l< |=]¢%
Conclusions:

. T&C - True,
IL. E@R — True.

TiE | %|&| @[S |*

-t | . - Lo



mailto:R*S@X$Q
mailto:R*S@X$Q
mailto:Y@T&E
mailto:E@R
mailto:Y@T&E
mailto:E@R

fls | =

121 1=1s]

IEA= ]

[.T&C -4HA
ILE@QGR -8

Q-41 In how many ways can 4 men & 2 women be seated in a row so that both women do not sit together?

enghin T THTT & 4 STl ST 2 &f7al 1 U Uit H darn S 3 41 sied U arg 758 2

01. 120

03. 720

05. None of these
TAH S qQl

Solution for Question 41

02. 360
04. 240

Ans Key: 5

eng hin 6! -5! x2! =480

Q-42

eng hin

consignment ?

A person sold g of consignment at a profit of 45% and the rest at a loss of 35%. If there was an overall profit of Rs. 1034, what is the actual cost of
3

T STk AT T g ART 45% FATH T T=AT & TAT AT T 35% BT I =T ¢ HA AT ¥ IH 1034 . T ATH gIAT 2, AT AIA T A FAT 8 2
3

01. Rs. 5100
03. Rs. 6500
05. None of these
TAH q FIS Tl
Solution for Question 42

(2x 145

‘ N /‘—__

e
3 100 3°

.30 60 )

(XL 1037
60

11x =1034 x 60

x = Rs. 5640

(29X ’JBX)_K

02. Rs. 5700
04. Rs. 6300

65 )
¢ |y _ 1037
100J %2103

=1034

Ans Key: 5

Q-43

eng hin

X
Ifyz: xz: xy = 1:2:3, find the value of —.— .

y
yZ 2X

X
TR yz:xz: xy=12:34m —:l T /I ATT F|

01. 2:1

03. 1:4

05. None of these
T A TS T

Solution for Question 43

VZ ZX

02. 3:1
04. 4:1

Ans Key: 4

eng hin 1




Q-44

eng hin

y{_ N LY | 48 )
= 4:1

Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to answer the
question.

A= fo 0 S W 9T 3 FAA U A0 g, ST T a7 FAT g 6 T w7 39 & F forw [Feforted #§ & #1997 F99 / FA9F Aa9TqF gl

Find the height of an equilateral triangle.
TqHaTg Bt T IATS A1 Hrora?

Statement [- Perimeter of the triangle is equal to the perimeter of the rectangle whose length and breadth are in the ratio of 5 :3.
Statement II- Perimeter of a square is known, which is twice the perimeter of the triangle.

Statement I1I- Area of the triangle is known.

Fo7T 1- BI9gst i1 i, S 3 a3 ST & 9T ST 3 oeTE ST ST H AquTd 5:3 2

FA [1- 3 FT TRATT S 1 337 797 8, 3 Brost & 9w &1 37 [ 3

FAT 111- st 7 &=ree feam /@ 2|

01.  Any two of them 02. Any of them
ITH AT A ITH H AIE AT

03. Only Statement IIT 04. Either Statement II or Statement III alone
Faet A 111 Fae HA I AT Fael Fa 11

05S. Statement I and either Statement I or
Statement 111
T 1 AT T 11 A7 F97 111

Solution for Question 44 Ans Key: 4

Q-45

eng hin

Let the area of triangle = 163m?>
and perimeter of square =48 m
From statement I11:

V2@ =163
From here side of the equilateral triangle and height can be calculated.
From statement I1:

48 [

IX2

V3 a

And height of a triangle =
2

Statement I: No conclusion.

So, using either II or III alone can find height.

T I BT &5 = 163 m”
S o o7 9T = 48m
FHOAIE,

V3 a“ 163

a%fﬁ,wngﬁsgaﬁgmﬁﬁwéﬁwauﬁ%

HUT I T,
48

IXZ

frprafrgams = V3,

2

HUT 19,

IS & T B
31, T Al hacd U B IT e C 8 318 fHehTed Tk |

Each of the questions below consists of a question and three statements numbered I, I and III given below it. You have to decide whether
the data provided in the statements are sufficient to answer the question. Read all the statements and give answer:

9 RTTT I AF I CFTT A IATFITL AT FATTTE | sSTIFRT I TT FATEIT I F FAT R AT AT ST AT FTIALIAF
g aafa § aradh ot a7 shrsaed:

A person can purchase three articles in Rs.49. What is the price of costliest article?

FTE AR 49 %, | A9 TG GL1E ThdT gl Tl @ il Frod #7182

Statement I : The cost price of two articles each is Rs.1 less than the cost price of costliest article.
Statement II : The cost price of two articles is same.
Statement III: The cost price of costliest article is 6.25% more than the cost price of cheapest article.



T L 3T 4G el T ANd GoF Wgd AT Td F AN Gea T 1%, 2|
FAT 11 T TG 6T AT G TH &
FIT 111 T T o7 il AT o T T8 AF T AN ToT T 6.25% ATF g

01. 1 or (Il and III together) are sufficient 02. Only III is sufficient.
13T (11 T 11 T3 87 T30 3 Fa [ T7TH g

03. Only I and IT together are sufficient 04. Only I and II together are sufficient.
el | 7 11 U 897 979 8 el | T 111 U |77 T479 &

05. None of these

T ATE TE

Solution for Question 45 Ans Key: 1

eng hin

Q-46

xtx+x+1=49

3x =48

x=16

C.P of the costeliest price = 16+1 =17

So only the first statement alon is sufficient to answer the question.
xtxtx+1 =49

3x =48

x=16

TEE AL a8 T HF T4 = 16+1 =17

I TZAT FIT Ahed TATH 2

Each of the questions below consists of a question and three statements numbered I, II and III given below it. You have to decide whether
the data provided in the statements are sufficient to answer the question. Read all the statements and give answer:

T T TT T AR TR CHFTT AT FITL U AT FRTTTE | sTTRT T IT FATHIT PR FIT R fAT TSI ITA FTISTIIA®
g aata € a7 g/ FI9 92 HTITLI:

In a kilometre race, by how many meters Chandu beats Chand?
U fhArdter 1 dE ¥, =g fhaw drex fir @ =g w1 grar g2

Statement I : In a kilometer race, Chandu beats Chandan by 100 meters.
Statement 11 : The respective ratio of the speed of Chandan and Chand is 4: 3.
Statement III : In a kilometer race, Chandan beats Chand by 150 meters.
I . U et rH1a 1 &1 #, =g 7 a7 0 100 #2Z 7 7

FI 1I: ST 3T AT T I HT F T ST 4: 3 Bl

F 11 T Ferrdie &1 €12 §, Je9 7 3¢ &1 150 e ¥ g2

01. TII or (I and II together) are sufficient 02.  Only III is sufficient.
1 =T (1 T 11 U3 977) 9978 8 Fae [ TT7T 8

03. Only I and (II or III) together are sufficient. 04. Only statement I, 11, and III together are sufficient.
et [ T (1L qT 111) T 91 9479 & Faef [, 11 99T 11l UF 977 0479 2

05. None of these
T TS TR

Solution for Question 46 Ans Key: 3

eng hin

Q-47

eng hin

In the statement II, only ratio of speed is given therefore it is not possible to get our answer only with the help of statement IT .

By combining Statement I and II also we can find the answer as the ratio between the speed of two people is given and in statement I the distance between
the winner and loser is given so we can find the required distance as well.

So Statement I and III together or Statement I and II together are sufficient

FAF 11§ Faet A T STITT TAT ST 8 T Faer F4 11 T Tgraar F & g/ 3L ITH FHAT 699 751 8l

A 1 3T 11 % ST & ST H I 9T Hhl & FAI6 T AN 0T I 6 1 AT [GFT ST & ¥ FA [ § H F&aorar si? g gu & o= it g0
& STTAT g T gH 9T LT ST a7 74l

T: AT 1 ST 1M1 Tk T AT R [ 37T 11 T 977 9377 §

Each of the questions below consists of a question and three statements numbered L, II and III given below it. You have to decide whether
the data provided in the statements are sufficient to answer the question. Read all the statements and give answer:

TR AT T AR TT R THF TAATATFITL AT AT sTrRy g TT FATHIT PR FAT§ fEq g e I FTIAIITF
forg aata § a1 T FaT 0E ST

How much profit did the company earn in the year 2018?

U 2018 # FHOAT T FohaeT AT g2

Statement I: The company earned 40% more profit in the year 2019 than that in the year 2017.

Statement II: The company earned a total profit of Rs.20 crores in the years 2017 and 2018 taken together.
Statement III: In the year 2019, the company earned 80% of the profit earned in 2018.

FAT [ FOAT T a9 2019 ¥ TAAT H aF 2017 F 40% AT ATH STSTa ATl

F 11: 2017 3T 2018 T FOT T B ATH 20 FUS 2T F2T |



T 111 a5 2018 #, FIAT 7 2018 H ST «ATH T 80% Afora 3

01. TII and (I or IT ) are sufficient 02. Only II is sufficient.
LI 3T (1 T 11 T |72F) T977 & FaeT [ 74718

03. Only I and II together are sufficient. 04. Only statement I, II, and 11 together are sufficient.
Fae [ 47 11 UF 971 7479 & e I, I1 T47 111 TF |7 777 &

05. None of these
78 & v

Solution for Question 47

eng hin

Q-48

Let the profit earned by company in 2017 = Rs. x and in 2018=Rs. y
Profit earned in 2019 = 1.4x
x +y =Rs. 20 crore (i)
From statement III,
g0

1.4X='a,r "L
- 100

X = S U

147
x= 2y ()

4 1
5

hi Solution

ATAT 2017 F FAAT FILT ATSIT ATH = Rs. x 3T 2018 H=Rs. y
2019 ¥ FAAT FIT AT ATH = 1.4x

X +y=20FIE T (i)

FI 11 7,
LAx=yx —
BES - i
X= _v | (i)

Find the wrong term in the given series.

ML FGATH T TT ATT FI™QY

90, 135, 286, 750, 2160, 6405, 19155

01. 90 02. 750
03. 6405 04. 286
05. 2160

Solution for Question 48

Q-49

eng hin

Find the wrong term in the given series

TS GATH TAT T AT FITY

9, 14, 40, 129, 536, 2705, 16260

01. 14 02. 40
03. 536 04. 9
05. 129

Solution for Question 49

eng hin

®1+5

x2+10
x34+15
x4420

x5+125

Ans Key: 4

Ans Key: 4

Ans Key: 2



Q-50 Find the wrong term in the given series.
enghin 2T T HGATH TAT T FTA HIAT

8, 18, 64, 272, 1395, 8424, 59045

01. 18

03. 272
05. 64

Solution for Question 50

02. 8
04. 1395

Ans Key: 5

eng hin

Q-51  Find the wrong term in the given series.
enghin @V HGATH TAT T FTT FIAT

17,36, 132, 635, 3500, 21750, 153762

01. 635

03. 132

05. 36
Solution for Question 51

Q-52 Find the wrong term in the given series

AL FTATH TAT T ATT FIQU

17, 20, 46, 147, 599, 3015, 18018

01. 20

03. 599

05. 3015
Solution for Question 52

eng hin  x1+3
®24+6
*®34+9
x4 +12

x5+15

02. 17
04. 3500

02. 46
04. 147

Ans Key: 1

Ans Key: 3

eng hin Passage

Passage for Question 53, 54, 55, 56, 57 (ST-297RRBPOPRE(13-17M)2020-NP)

Study the following information carefully and answer the questions asked-

Fafarfaa TTasTh 1 e\ d T AeqqTFR ATIY TT I 6 SALS -

Given line graph represent profit percent (on CP) and discount percent (on MP) on five different articles

% YT S O ST ST FEGEN T AT WiAerd (CP %) 37T g2 Giaerd (MP %) T Jaffa Fear 2|




Q-53

eng hin

If the cost price of P and T is equal to Rs 1200 each. Find the difference in their Marked Prices.
FFE PR T T HY ATIT LT TAF 1200 TR F AL | I 7 47 § SqTqTq FITS07 |

01. Rs15 02. Rs25
03. Rs27 04. Rs30
05. Rs24

Solution for Question 53

ForT

CP:SP:MPis

10:14:16.eeceieeinnne... (2)

to make CP of P and T same multiplying eq. (2) by 4,
CP:SP:MPis

40 : 56 : 64

So 40 =1200

==1=30

Difference in MP =65-64 =1,
so=1=30

P fem

CP: SP: MP

052 65 i, (1)
T & =g

CP: SP: MP

10214516 e (2
P 37R T &1 CP UM 47 & fAg @t (2) &7 4 TN FH T,
CP:5P: MP

40: 56 64|

F: 40 = 1200

==1=30

MP &l HAd = 65-64=1,

Hd:=1=30

Ans Key: 4

Q-54

eng hin

If the marked price of S is 200% of market price of R, then find the selling price of R, if marked price of S is Rs 3150.
Tfa S 7 sifehd TeT R F siferd T T 200% 2,47 S &7 sifehd qox 3150 F47 2, A1 R 7 fasma goa 7 Firfor

01. Rs 1050 02. Rs 1100
03. Rs 1150 04. Rs 1075
05. Rs 1025

Solution for Question 54

Ans Key: 1

eng hin



[For o

CP:SPEMP =456 .cooiiveeiiiinnnnnn

ForR:

CRSEMP =500 0l sl

Mp of 8 is 200% of R.
200% of 0= 18
Multiply eq. (1) by 3
CP:SP:MP =12:15:18
Now 18=13150

1=175

6= 1050

s & faw
CP:SPEMP=4:56 ...........
Rﬂ?ﬁﬂ:

CP:SPEMP=35:6:9 ...........
S %1 Mp R #1200% 2
200% of 0 = 18

THT (1) I 3 6 W FA T/

CP:SP:MP = 12:15:18
Now 18 =3150
1=175

6= 1030

Q-55 Find the ratio of selling price of S and R if the cost price of both is same.
S ¥ R # fasft wer &7 srqura ra ffsr 7fe 91 6 R goF a9 g

01. 24:29

03. 25:24

05. 23:25
Solution for Question 55

For 5:
CP:SP:MP =4 :5:.6 ..cocivinn...
For R:
CP:SP:MP =5:6:90.........5 .

A1)

A2)

02. 23:22
04. 23:20

........ (1)

........ (2)

Multiply eq. (1) by 5 and (2) bv 4

CE:SE:MP =20:25:30
CP:SP:MP =20:24:36

Required answer= 25 : 24

CP:SPMP =4 :5:16 ceovvviiiinnnnna(1)

Rﬁ;ﬁﬂ:

CP:SP-MP =5:6:9 ............

THT (1) T 5 6 TAT(2) Tl 4 T 00 G T

CP:SP:MP =20:25:30
CP:SP:MP =20:24:36
arffe gat=25: 24

Ans Key: 3

Q-56 Find the selling price of Q if the ratio of marked price of Q and Sis 5 : 1 and the cost price of S is Rs 3600.
enghin Q3T S ¥ ST T&T T SUTT 5 : 1 3T S FT ANTT Tod 3600 ¥4 &, AT Q it fasht war sy Hirforn

01. Rs. 15500

03. Rs. 18250

05. Rs. 16340
Solution for Question 56

02. Rs. 18900
04. Rs. 19600

Ans Key: 2

eng hin For S:

CP:SP:MP =450 s

For Q:

CE:SE:MP =14:21:30 .....cc00ivinvnnnas

Here already ratio of MP of Q

(1)

(2}
:8is5:1



So,
4 ==13600
1=2000

SPof Q=21 == 18900

s & faw:

CP:SP:MP =8:506 Lo

Qéiﬁ'ﬁ{

CP:5P:MP =14:21:30 .......

THRQ: ST HS5:17

Hd:,
4 ==3600
1==2000

SPof Q =21= 18900

A1)

.(2)

Q-57

eng hin

01. 10.67%
03. 5.4%
05. None of these

TAH HAE ARl

Solution for Question 57

ForR:

CP:SP:MP =5:6:0 ....c..cciivnaa(1)
For P:

CP:SP:MP =40 5266 5o vsrmarciags (2)

To make CP same, multiply (1) by 8

(0]
L£]
—_
[=]
[=]
]

8.33% more

1ves CP:SP:MP =40:48:72

o
SP of P is 4 more than that of B
S0 4

CP:SP:MP =5:608 . ... .S . . i (1)

P & T

CP:SE:MP'=40 :52:66 tua..iaveseesinnns (2)
CP &1 T & o ferg oeff (1) F e H T A

CP:SP:MP =40:43:72
PSP, R 4 AT

If the cost price of R and P is same, then find how much % the selling price of P is more or less than that of R.

T R 3T P T AW JoF THE &, qT AT hiord T P a7 o goa R 7 qoan # foraar % srfers a1 97 2

02. 9.25%
04. 8.33%

31T 4/28%100 = 8.33% 3Tfer

Ans Key: 4

mmEp O m e

me O m e

played in the
oumament

3

20

28

ZATH B T T A

Eag e

8

20

28

Passage for Question 58, 59, 60, 61, 62 (ST-297RRBPOPRE(18-22M)2020-NP)
eng hin Passage

Read the following information carefully and answer the questions asked-

et STaRTa F 716919 & 9 ST I TT I 6 IALR

Following table gives information related to performance of 6 Batsman in a tournament
et arferst v gatde # 6 FeaaTsi % Y99 & SafEq TaeT a1 g

Baisman | Number of matches

Average Runs Total balls faced Strike
scored in the in the tournament Rate
Tournament

= —_ 120.6

&1 —_ —

33 400 114

— —_ 72

55 1280 —

- —_ 66

TR AT ZA W FA G G

HET FE z

—_ —_ 129.6

81 a -

38 400 114

55 1230 —




F
Note:

T2

i. Strike Rate = [Total Runs Scored/Total Balls Faced]x100
ii. All the given Batsmen could bat in all the given matches played by them.
iii. Few Values are missing in the table

i. a2 ¥ = [{A T ThIT / |/ AT HT ATHAT HIAT T2T]x 100
i, R T Tt SocraTer S 5T Bt U A A= H Foctarst! T Tehd 9

o= —_ —_ 66

iii. ATTerRT # = A9 qH &
Q-58 The respective ratio between total number of balls faced by D and that by F in the tournament is 3:4. Total number of runs scored by F in the tournament is
eng hin  what percent more than the total runs scored by D in the tournament?
D 7T F 3137 ZATHE | ATAAT 61 a1 T [ ST F a9 FHi7% AqI1d 3:4 . TATHE § F FIT a0 70 TH1 1 [ H&AT 36 ZAHe H D FIRT 417
T FHA TAT T AT | fhaar giaera srferss 82
01. 200/9% 02. 150/9%
03. 350/9% 04. 325/9%
05. 100/9%
Solution for Question 58 Ans Key: 1
F = D =[Strike Rate % Total Balls Faced]/100
F = 66x4x/100, D = 72x3x/100
F = Dx[(100+y)/100] 264x/100 = 216x/100 x [(100-+y)/100] y = 200/9%
F =D = [¥2Te® ¥ x §THAT &7 AT /o Fal 1 9e47]/100
F = 66x4x/100, D = 72x3x/100
F = Dx[(100+y)/100] 264x/100 = 216x/100 x [(100+y)/100] y = 200/9%
Q-59 If the runs scored by E in last 3 matches of the tournament are not considered, his average runs scored in the tournament will decrease by 9. If the runs
scored by E in the 26th and 27th match are below 128 and no two scores among these 3 scores are equal, what are the minimum possible runs scored by
E in the 28th match?
T2 gatde F fUger 9 =1 § E g7 9910 70 741 9% =1 75t 5647 S7a7 &, 97 gATHe § J970 T 37T SHad o 9 F9 g1 SITuir 7fS 269 3T
279 4= § E g7 a9T0 70 T 128 A 7 & T 7 3 Bl § H A2 W1 <1 Sh A€ T2l 8, A1 285 = § E gIT G107 T ATH HHF T 4T 52
01. 137 02. 135
03. 141 04. 133
05. 130
Solution for Question 59 Ans Key: 1
Total runs scored = Number of matches played in the tournament x Average Run = 28 X 55 = 1540
Total runs scored(excluding last 3 matches) = 25 x 46(decrease 9 in avg) = 1150
Total runs of last 3 matches = 1540 — 1150 = 390
Average = 390/3 = 130
26th and 27th match are below 128 and no two scores among these 3 scores are equal.So
Assume 26th = 127
then 27th = 126
and therefore 28th = 137
A T SATE = ZATH 3 Wt T8 Felf 3hi T x 31 T = 28 x 55 = 1540
FHe W AT (Uaet 3 Al ol BIGH) = 25 x 46 = 1150
fimet 3 84 % el W = 1540 — 1150 = 390
|d = 390/3 = 130
2681 T 2731 7= 128 WHH @ ST 3 T H 6 i3 o &1 Wh S 781 28| A
T o 2641 = 127
e 27at=126
gt at = 137
Q-60 In the tournament, the total number of balls faced by Batsman A is 74 less than the total number of runs scored by him. What is the average run scored by
eng hin  Batsman A in the tournament?

TH TATHE § SCHAT A FTIT HIHAT 1 TS A1 61 H ST 30 Z12T a0 T IAT 61 HA AT H 74 FH 2| T8 ZAHE H qociars A g aqry 17
AT T FAT 2

01. 425 02. 395



03. 38 04. 44
05. 40.5

Solution for Question 60 Ans Key: 5

eng hin

129.6 = [x/x-74]%100
129.6x -9590.4 = 100x
x =324

Average = 324/8 = 40.5
129.6 = [x/x-74]%100
129.6x -9590.4 = 100x
x =324

3aa = 324/8=405

Q-61

eng hin

Batsman B faced equal number of balls in first 10 matches he played in the tournament and last 10 matches he played in the tournament. If his Strike rate in
first 10 matches and Isat 10 matches of the tournament are 120 and 150 respectively, what is the total number of balls faced by him in the tournament?

Foorarst B ZATHe § T2 10 #=1 #§ 37 siady 10 §=1 § A4 7 awraw dweqr 7 araar Fhar. 71 gatde F aga 10 §=91 § o sy 10 =1
IEET TETTH YT FHLM: 120 ¥ 150 8, AT SATHE | I8 ZTT Tl AT 3T T et AT #4782

01. 1000 02. 1100
03. 1200 04. 1250
05. 1300

Solution for Question 61 Ans Key: 3

Q-62

(120/100)%(x/2) + (150/100)x(x/2) = 1620
x = 1200
(120/100)x(x/2) + (150/100)x(x/2) = 1620
x = 1200

What is the number of matches played by batsman C in the tournament?
ZATHE H Foararst C 5T &l 0 {1 T §&4T 771 52

01. 10 02. 16
03. 12 04. 18
05. 8

Solution for Question 62 Ans Key: 3

Q-63

114 = (38x /400)x 100
x=12
114 = (38x / 400)x 100
x=12

Find the value of variables and state the correct relationship.
T HTHTT TTT IS TAT T GF=g ATq I3 |

X2—62x+897=0
y2—69y+1190=0

01. X > y 02. x < y
03. x E 04. x <y
0S. x=y or relationship cannot be established

x=y T ¥l TATIO T2 TR ST Fehat
d

Solution for Question 63 Ans Key: 5

eng hin

x=23,39 y=34,35

Q-64

eng hin

Find the value of variables and state the correct relationship.
T HTATT TG FITT TATHET oI T A7 |

x2+42.5x+686=0
y2+40.5y+399.5=0

01. X > y 02. x< y
03. X > y 04. x< y
05. x=y or relationship cannot be established



x=y IT ey ST TSI 3T ST Tehedt
g

Solution for Question 64

Ans Key: 2

enghin x=-245,-28 y=17,-23.5

Q-65  Find the value of variables and state the correct relationship.

enghin T FTHTT ATT HITAD TATAET G¥a=g FTT RIS |

xX2-104x-777=0
y2-223y+12432=0

01. X > y 02. x < y
03. X > y 04. x< y
05. x=y or relationship cannot be established

x=y T ¥l TATIOT T TR ST Fhad T
d

Solution for Question 65

Ans Key: 4

enghin x=111-7 y=111,112

Q-66  Find the value of variables and state the correct relationship.

enghin =TT FTATT ATA HITAY TATTE =g ATA H1{0 |

X2-76x+1419=0
y2-20y-2709=0

01. X>y 02. X<y
03. X2y 04. X<y

05. x=y or relationship cannot be established
x=y IT T TATAT Al (AT ST Tl
d

Solution for Question 66

eng hin  x=33,43 y=43,63

Q-67  Find the value of variables and state the correct relationship.

enghin X0 FTHATT ATT HITR TAT TET Gy ATqA H1{77 |

x2—37x-287=0
y2-73y+1302=0

01. X > y 02. x< y
03. X > y 04. x< y
05. x=y or relationship cannot be established

x=y IT T T AT FohaT ST &afaT
d

Solution for Question 67

Ans Key: 5

Ans Key: 5

enghin x=7+41 y=31,42

eng hin Passage

afafaa TasTh # 1 samgd® a8 ST g™ TT AT F S|

Principal(P) Amount Years Rate of Interest
%)

Passage for Question 68, 69, 70, 71, 72 (ST-297RRBPOPRE(28-32M)2020-NP)

Read the following information carefully and answer the questions asked.




maﬂrﬁ 40000 — 2 ||
[TEA — 59000 =
A 2000 — =

Q-68  Iftheratio of interest rate of E to that of D is 2:3 then what is the Principal of D?
enghin  FETITET SITFRT FT AT T2 17 T2 T 07 % I 2

01. 30000

03. 70000

05. 60000
Solution for Question 68

02. 40000
04. 50000

Ans Key: 4

eng hin  R(%)=4x3/2=6
Principal —x
X + (xx3%6/100) = 59000
x = 50000
R(%)=4%3/2=6
oo — x
X + (xx3%6/100) = 59000
x = 50000

Q-69 If the interest is compounded yearly for three years then what is the amount to be earned by C?

Ff% =TS A |1 % Forg arfeie =gl @ 91 C 5T sAfStd it ST aredt iy 47 2

01. 42894.56

03. 44664.56

05. 46564.56
Solution for Question 69

Amount = P(1 + (R/100)"3)

A =40000 x 1.04 x 1.04 x 1.04
A =44994.56

=1 = P(1 + (R/100)°3)

A =40000 x 1.04 x 1.04 x 1.04
A =44994.56

Q-70 What is the Simple Interest of B ? If the ratio of Principal of C to that of B is 4:5 and the rate of interest is 10% more than that of C.
hin B T STETUT SATST 4T §2 TTS C FHALT TAT B F AT T SATATT 4:5 ¢ 37T AT Al 7T C T AT H 10% 3TEF )

01. 6600

03. 4400

05. 11000
Solution for Question 70

02. 44794.56
04. 44994.56

02. 8800
04. 2200

Ans Key: 4

Ans Key: 2

eng hin P =5/4 x 40000 = 50000
The rate of interest is 10% more than that of C.
R(%) =4 + (4%(10/100)) = 4.4 %
SI=[50000 x 4.4 x 4]/100 = 8800
P =5/4 x 40000 = 50000
TS ¥ 7T C A AT F 10% AFera g
R(%) =4 + (4%(10/100)) = 4.4 %
SI=[50000 x 4.4 x 4]/100 = 8800

Q-71  Ifthe Principal of A is 20% more than that of E, then What is the amount of A?
enghin  TTE AT AT E T ToAT H 20% A8 €, T 7 Feres #4122

01. 25649.6

03. 24969.6

05. 23869.6
Solution for Question 71

02. 24669.6
04. 24754.6

Ans Key: 3

eng hin  Principal(P) of A =20000 x 120/100 = 24000

A = P(1 + (R/100)"N) = 24000(1 + (2/100)2) = 24969.6



AFT AT = 20000 x 120/100 = 24000
A =P(1 + (R/100)"N) = 24000(1 + (2/100)"2) = 24969.6

Q-72 If amount of D equals to five times that of his Principal then what is the Rate of Interest(%o)?
enghin T2 D T F=rer 6% G & O AT F a2 g q1 4TS 1 T 4T 82
01. 122.22% 02. 144.44%
03. 133.33% 04. 155.55%
05. None of the above
Solution for Question 72 Ans Key: 3
eng hin  Amount of D = Rs.59000
Principal —x
Amount of D = 5x
5x =59000 =>x= 11800
SI = 47200
R =47200 x 100/ 11800 x 3 =133.33%
D T fsrae = Rs.59000
e — x
D 7 e = 5x
5x = 59000 => x= 11800
ST =47200
R =47200 x 100/ 11800 x 3 =133.33%
Q-73 Gita, Shweta and Sita invested Rs. 4200, Rs. 9600 and 5400 respectively while starting a business. At the end of the year, they earned a profit of Rs.
24,000. Sita invested 32% of .her share of the profit in a saving scheme. How much amount is left with her?
T, AT ST AT T FHIA: 4200 %, 9600 F 3T 5400 & H =TT [F A g | T F 37d H, It 24,000 F T AT T A7) =Hiar F =
TISTAT § FTH HT 32% . A< 7 e Fram 3o a1 et ey =it 82
01. 6750 02. 4590
03. 2160 04. 2560
05. None of these
Solution for Question 73 Ans Key: 2
Gita : Shweta : Sita=7:16:9
Sitas' profit = 4 %9 =6750
' 32
Amount is left= 750888 4590
100
Tfar : &raT HEar =7:16:9
T FT AT = _-Lil‘ll‘l 9 —6750
st = 22258 4599
100
Q-74 In a class of 80 students and 5 teachers, each student got sweets that are 15% of the total number of students and each teacher got sweets, that are 25% of
eng hin  the total number of students. How many sweets were there ?
80 AT 3T 5 forerart 1 FerT &, wearw BT 7 Mereat e, ST | St £t T 77 5% g o7 T fover #r fzre et g, s O |1 gy i
AT T 25% g1 et fsreat €12
01. 330 02. 420
03. 400 04. 300
05. None of these
N tL i
Solution for Question 74 Ans Key: 2
enghin  =80x4+5x20
=320+100
=420
Q-75 Ram’s present age is three times his son’s present age and two- fifth of his father‘s present age. The average of the present ages of all of them is 46 years.
eng hin  What s the difference between the Ram’s son’s present age and Ram’s father‘s present age ?

T T TIATT AT T T T AT 3T | A AT ¢ 37 I TUaT 7 Faqame 3 T &T-Ti=dT g1 57 93T T Fq9T 3 7 9a 46 99 g1 T8



F O T AR A ST T AT i a7 arg H AT 6w g2

01. 23 02. 26
03. 46 04. 15
05. None of these
TAH | A(E Aol
Solution for Question 75 Ans Key: 2
enghin R:S:F=6:2:15
23 unit =46
1 unit=2
Difference between the Ram’s son’s present age and Ram’s father‘s present age= 13 xX2=26
R:SF=6:2:15
23 THTE = 46
1SS =2
TTH o T T aqHI AT ST T F 9q1 T Fq=TT o0 H 3% = 13 x2=26
Q-76 The ratio between the speed of a train and a car is 16 : 15 respectively. Also, a bus covered a distance of 480 kms. in 8 hours. The speed of the bus is
eng hin  three-fourth the speed of the train. How much distance will the car cover in 6 hours ?
T & ¥ T FT AT T 6 F= T TG0 HH: 16: 15 T ZHSH STATAT, T 99 480 FhefrHie ¥ T 8 5 H T FTdT g1 a9 ¥ A 2 ¥ i
H AA-ATATE g1 6 5 | FTE Tora=t LT T HAT?
01. 480 02. 450
03. 420 04. 400
05. None of these
=3 & A0S A
Solution for Question 76 Ans Key: 2
Speed of bus = 60 kmph
Speed of train = 60> : =80 kmph
Speed of Car = 80x—> =75 kmph
. 16 }
Distance covered in 6 Hours = 75 =<6= 450 km
Fq FHTa = 60 Tt/ g2
AR = 60x— =80 fabefi / Her
FrErahT = 805 1_5: forlt /e
6 T H T ki it = 75 x6= 450 T
Q-77 The largest and the second largest angles of a triangle are in the ratio of 3 : 2 respectively. The smallest angle is 20% of the sum of the largest and the
eng hin  second largest angles. What is the sum of the smallest and the second largest angles ?
9T &7 Ha 9T 37T ST 9aE FST H07 FHL: 3: 2 F ATIT | | T BT HI0 T8 T2 3T AL T T B % ART HT 20% B T8 TS AT
TEY GEH T2 A7 FHT AN FIT 82
01. 600 02. 900
03. 750 04. 800
05. None of these
i A
Solution for Question 77 Ans Key: 2
eng hin  3x+2x+1x=180
=900
Q-78 A, B and C started a business by investing Rs. 20,000, Rs. 28,000 and Rs. 36,000 respectively. After 6 months, A and B withdrew an amount of Rs.
eng hin 8,000 each and C invested an additional amount of Rs. 8,000. All of them invested for equal period of time. If at the end of the year, C got Rs. 12,550 as

his share of profit, what was the total profit earned ?

A, B 3T C 7 FHL: 20000 T2, 28000 T 37T 36000 FTF FT AT Feh T SHAHTT L& AT 6 AL % aTE, A ¥ B 7 8000 &3 T 77720
o o #fF ST T F 8000 w Y srfafw v w Farer fram == =t 7 wwm srafer 3 oo faer feam afe ad F sia &, c Frama w Rew v =
H Rs 12550 T, a1 % 19 F47 Afora 741 122



01. 25000 02. 25100
03. 25200 04. 25300
05. None of these

T AE TR

Solution for Question 78 Ans Key: 2

eng hin

A :B : C=20,000 x6 + 12000 x 6 : 28,000 x 6 +20000 x 6: 36,000 x6 + 44000 x 6
A:B :C=20+12:28+20:36 +44

A:B :C=32: 48 :80

A:B:C=2:3:5

Sunit = 12550

10 unit =25100

A :B : C=20,000 %6 + 12000 x 6 : 28,000 x 6 +20000 X 6: 36,000 x6 + 44000 x 6
A:B :C=20+12:28+20:36 +44

A:B :C=32: 48 :80

A:B:C=2:3:5

5 TS = 12550

10 THTE =25100

Q-79

eng hin

The speed of the boat in still water is 24 kmph and the speed of the stream is 4km/h. The time taken by the boat to travel from A to B downstream is 36
minutes less than the time taken by the same boat to travel from B to C upstream. If the distance between A and B is 4 km more than the distance between
B and C, what is the distance between A and B ?

oTTear et 7 ATer Y i 24 Tl i wfe & s emer oy 1 4 Bt/ wier 31 ASr B stqorae A= e 3 forw A gy e mr amar BEH C
AT T ATAT F forw ua &1 914 g1 forw 10 597 | 36 A9 w7 g1 Tfs A 3T B % o= i g3 B T C F a1+ ol 47 & 4 T arfere 8, A 3w
B & = T T FTE?

01. 50 02. 58
03. 52 04. 56

05. None of these
TAY A FE Aal

Solution for Question 79 Ans Key: 4

Q-80

Chng n

16 men can do a piece of work in 30 days. 18 women can do the same piece of work in 32 days. 5 men and 12 women start the work and after some
days 5 men leave the work. Then 12 women complete the remaining work in 36 days. For how many days did 5 men and 12 women together do on the
work ?

16 729 30 &1 & UF 19 #7 aFd 21 18 Aigary 32 faA1 & UF &7 19 F7 Tl g1 5 T&W T 12 AZATY FH F Fd & oY Fg (&4l & 918 5
T FTH SIE & gl T 12 AT 09 F71F 36 AT § T FAT 51 5 T2UT ST 12 Aigarat 7 fohae 31 T U a7 w1 war?

01. 12 02. 10
03. 9 04. g

05. None of these
TAH HFS Tl

Solution for Question 80 Ans Key: 4

eng hin

16m=30=1811"x32
Sm= 6w
(Sw+12w) x x+12wx 36 =18wx= 32

x=8




